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fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
IENE AbE 10. 00| AHxf 298 2,980 3,672 3,181 1,944
HOR w5 5. 00 | #Hx} 12 60| 3,456| 3,384| 3,024
H ¥ £ ¥ 15. 00| AHxf 300 4,500 1,350 1,161 983
X D BB 10. 00| AH%F 658 6,580 1,048 718 367
ESF AWII--N E % 4. 00 | FHxf 56 224| 5,400| 5,145 4,504
H % i 3. 00| FHxf 4 12| 1,728 1,674| 1,620
H A ] 1L 1. 00| FHxf 235 235 864 724 432
= | .00 4% ol 50 2,700] 2,511 2 160
A w5 5. 00 | FHx} 222 1,110| 1,836| 1,578 756
= m | 0.40| kx| 2,500 1,000 140 nrl 81
= %O 4. 00| FH%f 453 1,812 2,484| 2,090| 1,296
[N F ) 5. 00 | #H %} 6 30| 1,944 1,494 1,080
EN R 5.00 faxt|  9e5| 4,825 2,052| 1,694 1,296
B—< = 0. 15| FHx} 4, 200 632 70 59 49
A7 k= b AbiEiE 3. 00| FH%f 650 1,950 2,592 2,375| 1,836
ot AL E 0. 10| FH%f 40 4 216
H ik w5 5. 00| FHx%f 32 160 1,944| 1,323 756
5 En AbifEE 10. 00 | #856f 480 4,800| 1,620 1,330 864
B O 10. 00 | #85f 200 2,000 3,780 3,105| 2,592
£ A AbiEiE 20. 00 | #H 5%} 66 1,320 3,024| 3,019| 2,700
& @ | 1000k 134 1,340 2,376 2,224] 1,080
LA £ ¥ 10. 00 | #H % 1,670 16,700 1,944| 1,177| 1,080
P=—1L & £ ¥ 4, 00| FH*} 610 2,440 2,700 1, 857 540
Tuyal— E % 4. 00| fHxf 30 120 3, 240
AEMEE O 0. 10| #Hf | 4, 300 430 146 108 65
ZDEH E % 0. 20| FA%F 960 192 70 58 54
LU E % 0. 20 | FH%f 300 60 76
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i 4 JE = Wae | %K F i fiE T fE g2y ]

DOND H & 10. 00| FA % 558 5,680 3,240| 2,787 2,160
= | 1000 Mk 4] 10| 1,728 1,647 1,620
B oK £ 10. 00 | ¥ 1,423 14,230 3,456 2,976| 2,160
e i B H 10. 00 | ¥E % 1,436 14,360 3,564 3,120 2,592
B & ¥ 0. 35| FHx} 210 75 486 470
B A — % [T 2. 00 [ FH %} 36 72| 1,836 1,482 1,188
AR kL 0. 30 [ #Hx%} 500 150 302 291 259

NEYIN o e 10. 00 | #H%F 50 500 4,536
PR = 10. 00| AHxf 59 590| 14,040 11,953 9,720




